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QUESTION 1

The following description of the AIX system command is incorrect: 

A. Toc heck whether the UltraPath is installed successfully: #lslpp -l UPforAIX * 

B. To check the disk is recognized correctly: # lsdev-Cc disk 

C. To check the WWN number of the HBA: #lscfg -pvl fcs0 

D. To modify the network card IP address: #lsdev -Cc if 

Correct Answer: A 

 

QUESTION 2

In a client application scenario, IO business model for the random read, the IO size is about 100K, and the depth of the
storage array LUN stripe set to______. 

A. 8K 

B. 16K 

C. 64K 

D. 128K 

Correct Answer: D 

 

QUESTION 3

For the configuration of the management network port and service network port of the VTL engine in the VTL6900
system, the following description is incorrect 

A. The first time you configure and use eth1, you can directly configure the network port IP on the VTL console 

B. In the command line configuration management network port directory / etc / sysconfig / network-scripts 

C. In the command line configuration, you need to log in to the VTL operating system, the user name is root 

D. After the command line configuration is complete, you need to restart the network service by running the service
network restart command 

Correct Answer: A 

 

QUESTION 4

A Simpana backup media pool configuration principle is: 
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A. According to the different retention time to divide the media pool 

B. As many media pools as possible to improve performance and utilization 

C. According to the purpose of the disk to partition the media pool 

D. According to the number of storage strategies or use to divide 

Correct Answer: A 

 

QUESTION 5

Which statement is false about the erasure code N+M redundancy implemented by Huawei OceanStor 9000? 

A. Different empty directories can be assigned different data protection levels to protect the data that will be stored in
these directories. 

B. Data written to an OceanStor 9000 is first divided into chunks at a size of 4 GB if the data size is larger than 4GB. 

C. The erasure code algorithm calculates M parity chunks for every N consecutive chunks. 

D. The utilization rate of storage space under protection is about N/(N+M), and data reliability is determined by M, where
a larger value of M results in higher reliability. 

Correct Answer: C 

 

QUESTION 6

Erasure code redundancy technology used in Huawei OceanStor 9000 supports higher reliability and more 

flexible redundancy than traditional RAID algorithms. 

Which of the following statements regarding the principle of Erasure code N + M is wong? 

A. Data is written into N data blocks of the same size 

B. Yu calculate M check blocks (N=+M) by Erasure code algorithm for every N consecutive data blocks 

C. The system stores N + M data blocks in parallel on different hard disks 

D. In re-Erasure Code storage mode, the system supports up to N hard disk failure 

Correct Answer: D 

 

QUESTION 7

By which of the following technologies can vmware VDI reduce the storage space used by the virtual desktop system? 

A. View storage accelerator (VSA) 

B. Persona management 
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C. Link cloning 

D. SE sparse virtual disk 

Correct Answer: CD 

 

QUESTION 8

Info Replication supports copying the data at the same time using the home directory, extended attributes, ACL (access
control list), WORM, and CIFS. NFS configuration information is also copied to the slave. When a disaster occurs, the
master and slave stations can quickly take over after the switchover. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 9

In VSphere 5.0 and later, View Storage Accelerate (VSA) caches virtual machine disk data to EXSi hosts. It uses the
content-based read cache (CBRC) in EXSi hosts, which no longer reads the entire operating system from the storage
system. It reads the regular data block from the cache, thereby enhancing the performance of the virtual host. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 10

If you need to automate the DR protection of an Oracle database in Replication Director, the configuration flow is: 

A. Create a site discovery store, find the host registration store, register the host to create a protection policy. 

B. Discovery Store, Discovery Host Registration Store, Register Host Create Site Registration Store Create Protection
Group Create Protection Policy. 

C. Found storage, found that the host to create a site registration store, register the host to create a protection group to
create a protection strategy. 

D. Create a site registration store, register the host to create a protection group to create a protection policy. 

Correct Answer: C 

 

QUESTION 11

NTFS (new technology file system) is a windwos NT environment file system, on the NTFS file system, which of the
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following arguments is not correct? 

A. NFS design ideas include stability, security, support for large-capacity storage devices 

B. NTFS will all the data is a file, the file system metadata is also stored as ordinary files 

C. Each directory and file attribute information is included in the MFT, MFT records the name of the file and directory,
size, data storage location information 

D. NTFS file space allocation unit is the sector, the default is 512 bytes 

Correct Answer: D 

 

QUESTION 12

Which of the following about the multi-channel usage of Huawei OceanStor 9000 to SMB3 is correct? (multiple choice) 

A. The client must also support the SMB3.0 protocol 

B. If the client has only one network port, you can not use the SMB3 function 

C. If the client has a GE network port with the same type and number of ports, when the client uses SMB3 to access
Huawei OceanStor 900, the client will establish multiple connection channels with Huawei OceanStor 9000 

D. If the client has two or more GE and 10GE IB ports of the same type, after the SMB3 is applied, when one of them is
disconnected from the network port, business will be interrupted. 

Correct Answer: AC 

 

QUESTION 13

A research unit purchased a Huawei Oceanstor 9000 storage products, the main configuration products: 8 

*

 Oceanstor 9000 C node, the front end 10GE * 2, CE6850 switch * 2, S5700 switch * 1, cables, lighting and other
accessories are fully furnished, households communication deployment program, prepared in advance a list of IP
planning programs and IP requirements. Which of the following IP address is needed? (Multiple choice.) 

A. 

The customer needs to provide 16 IP addresses for Oceanstor 9000 system back-end IP and need to provide a
gateway. 

B. 

Customers need to provide nine management network IP addresses, of which eight for IPMI management, one for OM
management. 

C. 

The customer management network must be interoperable with the OceanStor 9000 InfoEqualize DNS IP to access the
OceanStor 9000 storage. 
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D. 

The client needs to provide 49 IP addresses that can interoperate with client applications, 16 for the static front end, 32
for the dynamic front end, 1 for InfoWqualizer DNS IP. 

Correct Answer: BD 

 

QUESTION 14

True or False, during the disaster recovery drill, to you want to switch the service to the disaster recovery end. In order
to prove the reliability of the disaster recovery system, you need to test by simulation test and other means as much as
possible. 

A. True B. False 

Correct Answer: B 

 

QUESTION 15

Enable SmartMigration on OceanStor V3 and start a migration task with SmartMigration. Before migration, suppose the
LUN ID and the data volume ID of the source LUN are 1 and 2 respectively while the LUN ID and the data volume ID of
the destination LUN are 3 and 4 respectively, what are they after migration? 

A. Source LUN: 1 and 3 Destination LUN: 2 and 4 

B. Source LUN: 1 and 4 Destination LUN: 3 and 2 

C. Source LUN: 3 and 1 Destination LUN: 4 and 2 

D. Source LUN: 2 and 4 Destination LUN: 1 and 3 

Correct Answer: C 
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